These are the same as the questions in page 465 exercise 9.1

1. The term “daily savings account” refers to a savings account in which interest is compounded daily.  Recall the compound interest table
	Compounding Frequency
	Number of Times Compounded per Year
	             i
	             n

	Annually
	Once
	i = annual interest rate 
	n = number of years 

	Semi-annually
	Twice
	i = annual interest rate ÷ 2
	n = number of years x 2

	Quarterly
	Four times
	i = annual interest rate ÷ 4
	n = number of years x 4

	Monthly
	Twelve times
	i = annual interest rate ÷ 12
	n = number of years x 12

	Weekly
	52 times
	i = annual interest rate ÷ 52
	n = number of years x 52

	Daily
	365 times
	i = annual interest rate ÷ 365
	n = number of years x 365


Determine the future value of each amount deposited into a daily savings account:
a) $2000 in an account that pay 1% interest per year for the month of April.

b) $3000 in an account that pays 1.5% interest per year for the months of July and August

c) $1500 in an account that pays 0.25% interest per year for the months of October, November and December.

d) $400 in an account for one year that pays 2.5% interest per year.

e) $500 in an account for one day that pays 1.75% per year.

f) $2500 in an account for one week that pays 1% interest per year.

3. A bank charges $6.95 for up to 12 transactions per month plus 75¢ for each additional transaction.  Determine the fee for each number of transactions during the month of March.

a)
14



b)
9



c)
21

d)
0



e)
18



f)
26

4.
Another financial institution charges $9.95 for the first 20 transactions per month plus $0.95 for each additional transaction.  Determine the service charge for the same numbers of transactions as in the last question.
a)
14



b)
9



c)
21

d)
0



e)
18



f)
26

6. Sabhi has $600 in a savings account.  This account pays 3.25% interest per year, compounded daily.  His financial institution does not charge a fee for transactions on his account.

a. How much interest will Sabhi earn in the month of April?

b. How much interest will he earn in one year?

c. Explain why the answer to part b is not equal to the answer to part a multiplied by 12

For questions 7 to 9, use the following table

	Banking Option 1
	Banking Option 2
	Banquet Option 3

	$9.75 per month for the first 10 transactions; $1.25 for each additional transaction
	$14.75 per month for the first 25 transactions; $1.25 for each additional transaction.
	$24.95 per month for an unlimited number of transactions.


7. In a typical month, Jack uses an automated bank machine (ABM) twice a week to withdraw cash from his chequing account.  Each month, his car payment and his insurance premium are automatically deducted from his account.

a. How many transactions does Jack make in a typical month?

b. Calculate the total cost and the cost per transaction for each option, then decide which one would be best for Jack.
8. Alexa is paid bi-weekly (i.e., once every two weeks) by cheque.  She usually uses her debit card two or three times per week.

a. Determine the total cost for each of the three banking options, and determine the one that she should use.

b. Imagine that she was charged two fees last month

i. A flat fee of $9.75, and

ii. An additional fee of $7.50 for extra transactions

Which fee is Alexa using right now, and how many transactions did she make altogether last month?

9. Ling rarely carries cash.  She prefers to use her debit card.  She is paid weekly.  Her pay is automatically deposited into her chequing account.  Ling uses her debit card for everything from buying groceries to eating in restaurants.  Ling estimates that she uses her debit card 15 times per week.  She occasionally writes cheques.

a. In a typical month, estimate the number of transactions that Ling makes.

b. Which banking option do you think she should use, and why?

